filling cup

N heaters

thermal
cut-outs

A

steam
T condensate

level cylinder

solenoid valve
strainer

water inlet

tundish

level control

float

level sensors

1 nigh
1 operational
L1 low



Detail X:

Base
Top part of

cylinder

Cylinder
Place the cylinder in the
straps of the cabinet

Lower part
of cylinder

Detail Y:

R RN RIS

§
|

Stop button for thermal monitor

Heater

Thermal monitor




Spare Parts List DBV 64 - DBV 524

64
94

bBv

124
174

264
304
354
434
524

Art. No.

Description

18
18

—_. ad

- e eh e )

18
18
18

O S Y

-t e ko N

J N—y

18|18
18} 18
18{18

P I G

— N NN - N

- W ww N

G b e ek

e
o

[ASTIE IS BNS 2 B \C R SN R A I AV T AV

D -t A

—_
o

N A DA 2NN

) —& b ek

—
(=]

36

NN, = NN

O -k A i .

-
(=}

36

NN A~ =2 NN

B-2120503
B-2120802
E-2120519
E-2120819
E-2120520
E-2120820
E-2124014
E-2124016
E-2124015
E-2120102
E-2120101
B-21250186
B-2123017
E-2120506
E-2120522
E-2120810
E-2120001
E-2505123

B-2205035
B-2205036
B-2205037
B-2205040
B-2205041
B-2205042
E-2204003
E-2204004
B-2205101
B-2205102
B-2205103
E-2204036
E-2204006
E-2204007
E-2204040
E-2204041
E-2204042
E-2204009
E-2204019
E-2204022
E-2206089
E-2206052
E-2204034
E-2205026
E-2205027
E-2205028
E-2205030
E-2204035
E-2604031

Cabinet
Cabinet excl. electric blind, beige/green, empty
Cabinet excl. electric blind, beige/green, empty
Front panel for steam section
Front panel for steam section
Front panel for electric section, excl. electric blind
Front panel for electric section, excl. electric blind
Safety lock for electric and steam panel DBV 304-524
Safety lock for steam panel DBV 64-264
Key for safety lock (set=2pc)
Grip for electric and steam panel DBV304-524, green, without lock
Grip for steam panel DBV64-264, green, without lock
Complete set of cable entry fittings for connecting cable
Complete set of cable entry fittings for connecting cable
Blind electric panel, L-electronic
Blind electric panel, P-electronic
Blind steam panel
Screw M4 for mounting grip E-2120102
Plastic cap nut M3 for mounting electric and steam blind

Steam Generation
DBV cylinder compl. with 1 heater 4.5 kW and 1 thermal monitor
DBV cylinder compl. with 2 heaters 4.5 kW and 2 thermal monitors
DBV cylinder compl. with 3 heaters 4.5 kW and 3 thermal monitors
DBV cylinder compl. with 1 heater 6.5 kW and 1 thermal monitor
DBV cylinder compl. with 2 heaters 6.5 kW and 2 thermal monitors
DBV cylinder compl. with 3 heaters 6.5 kW and 3 thermal monitors
Heater 400V / 6,5 KW
Heater 400V / 4,5 kW
Top part of DBV cylinder, empty, for 1 heater and 1 thermal monitor
Top part of DBV cylinder, empty, for 2 heaters and 2 thermal monitors
Top part of DBV cylinder, empty, for 3 heaters and 3 thermal monitors
Lower part of DBV cylinder
Gasket for heater
Mounting nut for heater
Screws for cylinder flange M6x20
U-washer for cylinder flange 6,2
Nut for cylinder flange M6
Connecting piece 1/4" for level control cylinder, steamside
O-ring seal for cylinder flange
O-ring seal for cylinder base
Cylinder base
Cylinder base for doublecylinder units
Plastic cyp-nut M6 for mounting cylinder base
Mounting kit for heater incl. clamps and nuts
Thermal monitor incl. clamps and nuts
Clamps for thermal monitor (5pc)
Gasket for thermal monitor (5pc)
Condensate plug
Reducing piece DN40/DN25




Spare Parts List DBV 64 - DBV 524

<t
[{o]

<
[o)]

DBV

124
174
264
304
354
434

524

Art. No.

Description

18
19

22+23
22
23
23
23

21

24
25

27

28

- o = =

P NG S T S e e N 4 ) |

- © =

B T T e I i ¢ 2

- o = =
- O

_Ab._s_g_u..a_s_k_;_a_t..;_sm
_A_h_L_L_L—A—J—L-L—-L_L.—t.—Lm

g

....L,p_x_;_.u..s._k_x_;_x_n_a_&m

- O = =

—

J R T T T T S S \V )

&)

g NN W=

- O

o T T T T T \V

PN -

- © - =

—

J O L T T T e I R R A\ V]

4]

g N w =

1 O =

-t P ed ek ek b e el ed N

DWW -

E-2304015
B-2325016
B-2325040
B-2325016
B-2304105
B-2304106
B-2307001

E-2304029
E-3320400
E-2321100
E-2304036
E-2304031

E-2301016
E-2302019
E-2304015
B-2504124
B-2504123
E-2504110
E-2504110
E-2504111

E-2504112
B-2325000
B-2325050

E-2404004
E-2404002
B-2404005
B-2424014
E-2404008
E-2404009
E-2404006
E-2404007
E-3416003
E-2424003
E-2420426
B-2420421
E-2420427
E-2404004
E-2420425

B-2504101
B-2502400
E-2501006
E-2505007
E-2504039
E-2504033
E-2505034
E-2505036

Water Feed

Clamp for connecting hose solenoid valve-cylinder base, d=12mm
Connecting hose, filling cup - solenoid valve

Connecting hose, filling cup - cylinder base

Connecting hose, filling cup - tundish

Solenoid valve, direct controlled, straight type, 0.05-3.5 bar
Inlet fitting for solenoid valve

Solenoid valve, servo controlled, straight type, 0.2-10 bar, 2.5 I/min
Fine filter in the inlet of solenoid valve

Flow rate controller 2,5 I/min

Flow rate controller 3,5 I/min

Rubber seal solenoid valve - cabinet

Servo controlled membrane for solenoid valve

Connecting hose, cylinder 1 - control cylinder, waterside
Connecting hose, cylinder 1 - control cylinder, steamside
Clamp for water feed hose

Water level control cylinder, compl. with 3 sensors

Water level control cylinder, without sensors

Sensor for Operation (normally closed)

Sensor for High water level (normally closed)

Sensor for Dry-running (normally opened)

Float for level control cylinder

Filling cup

Connecting hose, cylinder base - cylinder base, incl. T-piece

Water Drain
Clamp for drain hose, cylinder base - drain pump
Drain hose, cylinder base - drain pump
Drain pump without mounting set
Mounting set for drain pump
Drain pump body
Impeller for drain pump
O-ring seal for drain pump
Corrugated seal for drain pump
Fastening clamp for drain hose
Drain hose, DN20
Gasket for tundish
Tundish, complete with gasket
Nut M4 for mounting tundish
Clamp for tundish hose
Drain hose for tundish, DN1", per m

Electronic
Control switch with green indicator lamp, incl. protecting cap
Control switch, single-pole, for P-electronic
Main contactor 24A, 230V
Main contactor 40A, 230V
Control fuse 5A, 5x20 mm
Connecting cables thermal monitor - relay, cylinder 1
Connecting cables thermal monitor - relay, cylinder 2

Connecting cables thermal monitor - heater




	DBV64P-DBV524P-1995-19961
	DBV64P-DBV524P-1995-19962
	DBV64P-DBV524P-1995-19963
	DBV64P-DBV524P-1995-19964

